Consumer Choice Theory


In a market-based economy, the choices that consumers make are a signal to producers. Consumer demand tells producers what goods and services to produce and how much of them to produce. Price is a signal to consumers and producers. It gives information to consumers about the cost of producing an item, and it gives information to producers about what consumers are willing to pay for that item


Resources are allocated efficiently in a market economy since consumer demand dictates the goods and services that suppliers will produce. They are distributed to those who value them the most and can afford to buy them.


Both consumers and producers tend to exhibit maximizing behavior. That is, businesses seek to maximize profit and consumers seek to maximize utility, or satisfaction. To do so, they must evaluate each activity at the margin.


Merrill Matthews, the Junior Vice President of domestic policy of the National Center for Product Analysis says, “Marginal cost is defined as the cost of each additional unit that a company produces, normally, most companies look at marginal revenue, and what they want to try to do is take the factors that they are producing and create a system in which the marginal cost equals the marginal revenue. The marginal decision rule is when an employer tries to determine whether or not adding this additional cost will produce the benefit that the employer thinks is needed. The efficiency condition is when you try to get that marginal benefit equaling the marginal cost.”


Business may seek to maximize profit by cutting costs, adding new products or increasing prices. But w hen their survival is threatened, maximizing profit often means minimizing losses.


At the end of the second millennium, businesses had to face a potentially devastating problem called, “the y2k bug.” The millennium bug originated in the design of many computer programs, which were written to recognize dates within a two-digit system. Many experts feared that when the clock rolled over to the year 2000, these programs would read the two zeros as the year 1900, leading to system failures all over the world. With virtually every industry and institution dependent on computers this would be catastrophic


“The problem was not only to find out about the date, how many date things were in there that you needed to track down, but you actually had to find the different references to the dates as well. What they decided to do for the most part was to identify things that they considered to be ‘mission critical,’” says Ashley Lassen, a business development specialist from Delta Dallas Proitch. 


Approximately fifteen percent of US companies were expected to suffer a mission-critical failure as a result of the year 2000 problem. This meant either a shutdown of business operations, a health hazard to individuals, or a significant loss of customers or revenue


Ranita Wyatt goes on to say, “Businesses struggled to repair their computer systems before the inflexible deadline arrived. Certain industries were prepared.”

